DUMPSQUELN

NetApp Certified Hybrid Cloud Implementation
Engineer

Netapp NS0-403

Version Demo

Total Demo Questions: 10

Total Premium Questions: 60

Buy Premium PDF

https://[dumpsqueen.com

support@dumpsqueen.com

dumpsqueen.com


https://dumpsqueen.com/netapp-dumps/ns0-403/
https://dumpsqueen.com/netapp-dumps/ns0-403/
https://dumpsqueen.com/
mailto:support@dumpsqueen.com
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QUESTION NO: 1

You have a 4-node AFF A800 cluster that is serving file data. You are required to replicate copies of the data volumes
directly to Amazon S3.

In this scenario, which two NetApp tools satisfy this requirement? (Choose two.)
A. Cloud Sync

B. XCP

C. FabricPool

D. SnapMirror Cloud

ANSWER: C D

QUESTION NO: 2

Your customer is writing a curl command to test an API call to deploy Cloud Volumes OWTAP for AWS They want to know
what the content-Type parameter should be set to in the header of the HTTP request.

In this scenario, what would you tell the customer?
A. Set the parameter to text/plain.

B. Set the parameter to application/json

C. Set the parameter to application/ xml

D. Set the parameter to text/html.

ANSWER: C

QUESTION NO: 3

You are asked to accelerate your company's release cycle by adopting DevOps practices. As part of this project, you want to
use infrastructure as code to deploy your storage environments during the CI/CD pipeline.

In this scenario, which tool would you use to satisfy this requirement?
A. Docker

B. Ansible

C. Selenium

D. Maven
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ANSWER: B

QUESTION NO: 4

You are asked to provision storage for a development team to make use of NetApp Trident in their Kubernetes environment.
You are advised that the development environment will be frequently performing large numbers of deployments. You want to
ensure you do not exhaust the storage volume system limits.

In this scenario, which backend would you recommend to satisfy the requirements?
A. ontap-nas

B. ontap-san

C. ontap-nas-economy

D. ontap-nas- flexgroup

ANSWER: C

QUESTION NO: 5

An organization is implementing infrastructure as code to deploy NetApp Cloud Volumes ONTAP instances.

In this scenario, what are two ways in which this implementation improves operation efficiencies? (Choose two.)
A. Defining the system as code makes it more secure.

B. Best practices can be implemented directly into configurations.

C. Deployment failures are automatically resolved by configuration management.

D. System configurations can be version controlled.

ANSWER: AC

QUESTION NO: 6

Click the Exhibit button.
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You are using NetApp Cloud Manager to set up replication, as shown in the exhibit.
Which two replication policies are supported in this scenario? (Choose two.)

A. Mirror

B. Tier

C. Clone

D. Backup

ANSWER: AD

QUESTION NO: 7

You are deploying persistent storage for Kubernetes with NetApp Trident.

In this scenario, what are the two objects that you must create? (Choose two.)
A. Trident virtual storage pool

B. Trident backend

C. Kubemetes StorageClass

D. Trident volume

ANSWER: B D

QUESTION NO: 8

As shown in the exhibit, you are installing NetApp Cloud Secure agents.

In this scenario, which component must be deployed for Cloud Secure to report findings?
A. connector from Cloud Manager

B. data broker
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C. container in Astra

D. acquisition unit from Cloud Insight

ANSWER: C

QUESTION NO: 9

You have a StorageGRID solution with 1 PB of object data. All data is geographically distributed and erasure coded across
three sites. You are asked to create a new information lifecycle management (ILM) policy that will keep a full copy of the grid
in Amazon S3.

In this scenario, which component must be configured for the ILM policy?
A. archive node

B. additional 1 PB license

C. Cloud Storage Pool

D. Cassandra database

ANSWER: A

QUESTION NO: 10

You are developing microservices on a Kubernetes system. When developers push new code to a branch, you want to have
your application deployed on Kubernetes using the CI/CD pipeline that automatically picks up new changes in the main
branch-In this scenario, what are three steps to accomplish this deployment workflow? (Choose three.)

A. Issue a pull request.

B. Reset the Git branches.

C. Commit changes to a Git branch

D. Configure Git hooks.

E. Merge code changes to the main branch.

ANSWER: ACD
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